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FACULTY OF COMMERCE
M.Com. (First Year) (Second Semester) EXAMINATION
NOVEMBER/DECEMBER, 2024
ACCOUNTING FOR MANAGERIAL DECISIONS

Paper-MC-V
(Wednesday, 11-12-2024) Time : 10.00 a.m. to 1.00 p.m.
Time—3 Hours Maximum Marks—175
N.B. .— (1) Q. No. 1 is compulsory.

YgT AR 1 SAfEE R

(2) All questions carry equal marks.

qd YA HHM O TR

(3) Simple calculator is allowed.

WY TOTRAS ATYUIE QAT 3R,

1. Manisha Ltd. has the following transactions and balances at the given data

and the price indices for the first-quarter of 2023 : 15

Amount Price Index
Opening balance 16,000 100
Cash sales 48,000 105
Payments to creditors 24,000 208
Cash purchases 16,000 110
Payment to expenses 12,000 208
Closing balance 12,000 110

Calculate monetary gain or loss due to inflation.

P.T.O.
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afen fa. I Eefia SFeRR. Tl efifeR 2023 aui=n dfeean faam@iqd Had

e
TR () ferma fdemian
TR eTfer 16,000 100
@ fosht 48,000 105
CEEACINICE] 24,000 208
EUC RG] 16,000 110
T A 12,000 208
Qe SR 12,000 110
TAAGHes TUYSE ¥ fehel B TUE &AL
From the following data, calculate material variances : 15
Standard Actual

Qty. Rate | Amount Qty. Rate | Amount
X 10 2 20 5 3 15
Y 20 3 60 10 6 60
Z 20 6 120 15 5 75

50 200 30 150
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X 10 2 20 5 3 15
Y 20 3 60 10 6 60
Z 20 6 120 15 5 75
50 200 30 150
Or/feRar

The following data is regarding to a manufacturing company :

Wil Aifed! Tehl ScEA hu-AIen Gafd TR .

Standard (9HIY) Actual (UI&Y)

Time Rate | Amount Time Rate | Amount

(@®) () | @A) (@) @ | @A)

A 20 3 60 30 4 120
B 20 7 140 30 6 180
40 200 60 300

P.T.O.
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Calculate :

MU ]

@) Labour Cost Variance

g1 Ry fa=rm

(7)) Labour Rate Variance

gm X fo=m
(zii)  Labour Efficiency Variance
oA i o=
(fv)  Labour Mix Variance.
gy fag fa=ro.
3. From the following information prepare cash budget for April to June. Cash
at bank balance on 1st April is Rs. 10,000 : 15

Months Sales () Purchases ) Wages R) Expenses (F)

February 10,000 5,000 2,000 1,000

March 12,000 6,000 3,000 2,000

April 14,000 7,000 4,000 3,000

May 16,000 8,000 5,000 4,000

June 18,000 9,000 6,000 5,000

@) 10% of sales are on cash and remaining sales realised following month.
(1) Creditors are paid in the next month.

(zii)  Income tax T 4,000 will be paid in May.

(v)  Machinery ¥ 15,000 will be paid in April.
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Erelial Aifgdi=a gR, THa @ S[A Afeard I S|NUss TR 4. 1 TYer

Z 1,00,000 S f¥oaer T .
Qi ot ®) T () TS () T (})

Theart 10,000 5,000 2,000 1,000
e 12,000 6,000 3,000 2,000
L 14,000 7,000 4,000 3,000
T 16,000 8,000 5,000 4,000
A 18,000 9,000 6,000 5,000

G 10% fawt g @M a df@ fawt & yda aferen suReR 8.
(i) ¥R YTAE JEd Afead el STEdl.
Gii) W HAfead TER T 4,000 = YAE ol SR
Gv) TUE dfe=a 99 T 15,000 9 A ol SR
Or/feRar

With the following data for a 60% activity, prepare a flexible budget for

production at 70% and 90% capacity :

Production at 60% activity — 600 units

Materials % 100 per unit
Labour % 40 per unit
Expenses T 10 per unit
Factory expenses T 40,000 (40% fixed)

Administrative expenses I 30,000 (60% fixed)
Depreciation T 10,000 (at all level)

Salaries % 15,000 (at all level)
P.T.O.
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60% STHIAT IUHHMRBET @l AfedEg, 70% 9 90% &THd=N 3G @

FEAd Al dafaeh NS qIR

60% SUHHTAT I — 600 Ffeq

[T/ F= AT ¥ 100 9fd =

S 3 40 9fd 1

T T 10 9fa =

HREM/3AET E= T 40,000 (40% &)
EIECARDERCE] % 30,000 (60% fEeR)

TR 10,000 (ST T UTdesien)
ERE| % 15,000 (SURATAT T HTdesaTan)

A radio manufacturing company finds that while it cost T 6.00 to make each

component, the same available in the market at ¥ 5.05 each, with an assurance

of continued supply. The breakdown of cost is : 15
Materials % 2.75 each
Labour % 1.75 each
Other variables % 0.50 each
Fixed cost % 1.00 each
6.00

Should you make or buy ?
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T e fmio 99 @ TuUSl &1, T SAURT dIR H0IEE! Yoo

6.00 TIY IR TN, € IRE IURA ISR T 5.05 STETSd JASHITAT

YA UTsY 3T}, Ufieyd fadiur @l 99l 3718

T/ hea AT 3 2.75 Gt
Sl 3 1.75 Tceht
TR agodl @ Z 0.50 Gt

T 9 s R wE 7 1.00 !

6.00

(a o
?

rqur AT 37l WREl el Ulfesl ol
Or/ﬁ:l'ﬁT

Raj Corporation Ltd. has prepared the following budget/estimates for the year
2022 :

Sales units 15000

Fixed expenses T 34,000
Sales value % 1,50,000
Variable costs T 6 per unit

You are required to :
@ P/V Ratio
(1) Break-Even point

(zii) Margin of safety and its percentage.

P.T.O.
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TS wAeE fafgees ad 2022 2 RSUSTER IR Sd 3R :

o T 15000
AYfada T % 34,000
fost g Z 1,50,000
qREd-a aiea 3 6 gfd =

AYUME ATfed HFd hl ¢

@) T%R1/3deT 9 fast gHor

Gi)  wEfIeed fog
Gu) Taua Ren 9 fa= e gL
5. Write short notes on any two from the following : 15
@) Break-Even Point
(1) Cash Budget
(zii)  Types of Material Variance

(fv)  Inflation Accounting.

Weildieh! HIEEl SR e few famr
G)  gufgwed fag

G) UG IR

Gi) U fa=ume 9eR

(v) WTEAE AEIHR.
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